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™ Linearized knot diagam

Solving Sequence

38*>4—>7—>5*>9—>1—>2?6%>01,C5

A knot diagra c3 cr C4 s Cy C2
Ideals for irreducible component#ﬂ)f Xpar

I =@ +u® 4+ 2u—1)

* 1 irreducible components of dim¢ = 0, with total 20 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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L I = (u®® 4 u'® 4 9u'® + 8u'” + 33u!® + 26u'® 4 60u'® + 424’3 + 48u'? +
31ult — 3ul + 2u® — 25ud — 10u” — 2u® — 4u® + 9ut + ud + u? + 2u — 1)

(i) Arc colorings
1
as =
ag =
ay4 =

a7 =
u? +
ut + 2u
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ag = ( uiu 3u 23 2;3u+ u)
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as =

a; = w —3u® —2ud +u

utt —|— 5u12 + S8ul® + ud — 8ub — 4ut + 202 + 1)

w’ 4+ 2ud — 2u )

az = utt — 13u'® — 10u® + 2u8 + 4u* — u?
—u — 3u —3ut+1
ag = ul? — 5ub + 3u?
—u® —3ub —3ut+1
as = \ —y!9 — 448 — 5ub + 3u?
(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u!'® — 4u!7 — 32016 — 28y — 104u!* — 76u!3 — 164u'? —
920 — 10440 — 32u° + 28u® + 20u” + 60u’ + 4u® + 4u® — 8u? — 16u? + 4u — 14



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Ce u?® —u! 430 -1
c2,Co w7 6t
C3,C4,C7 w0 2 —1
Cs,C8 w4 —du—1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,Cq vy =Ty 6y +1
C2,Co v+ 13y" + - — 6y + 1
€3,C4,C7 v 1Ty o~y 41
Cs,Cg y20—11y19+~-~—6y+1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1CS)

Cusp shape

u = —0.274747 4 1.0696001

1.26889 — 2.134561

—8.50898 + 2.169621

u = —0.274747 — 1.0696001

1.26889 + 2.134561

—8.50898 — 2.169621

u = —0.773104 4 0.1531611

—1.48284 + 6.072401

—11.45285 — 5.875401

u = —0.773104 — 0.1531611

—1.48284 — 6.072401

—11.45285 4 5.875401

u = —0.772326

—5.55788

—16.4400

0.198534 + 1.2396501

u =

2.76418 — 2.161361

—4.73748 + 3.318551

0.198534 — 1.2396501

u =

2.76418 4- 2.161361

—4.73748 — 3.318551

u =

0.692333 + 0.1561751

—0.324511 — 0.8157261

—9.67172 + 1.078881

u= 0.692333 — 0.156175]

—0.324511 4 0.8157261

—9.67172 — 1.078881

u = —0.327541 4 1.2600301

—1.65658 + 3.968531

—11.89349 — 3.797871

u = —0.327541 — 1.2600301

—1.65658 — 3.968531

—11.89349 + 3.797871

u = 0.201509 4 0.6633571

1.66654 — 2.358321

—6.35225 + 4.497831

u= 0.201509 — 0.6633571

1.66654 + 2.358321

—6.35225 — 4.497831

u = 0.295567 + 1.3520501

4.43062 — 4.433081

—4.68370 + 2.527281

u= 0.295567 — 1.3520501

4.43062 + 4.433081

—4.68370 — 2.527281

u = —0.328206 + 1.3576101

3.28242 4 10.057701

—6.70834 — 7.266121

u = —0.328206 — 1.3576101

3.28242 — 10.057701

—6.70834 + 7.266121

0.022410 + 1.4037501

u =

7.97473 — 2.846481

—2.39002 + 2.978611

u= 0.022410 — 1.4037501

7.97473 4 2.846481

—2.39002 — 2.978611

u= 0.358818

—0.680181

—14.7620




II. u-Polynomials

Crossings u-Polynomials at each crossing
C1,Ce u — w4+ 30— 1
C2, Cy w7 o 6u+ 1

c3,C4,C7 w2 —1
Cs, C8 u? ot 4 —du—1




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1, G Y0 — Tyt o~y + 1
C2, Cg Y20+ 13y + - — 6y + 1

€3,C4,C7 O 17y e — by + 1
C5,C8 vy — 11y o — 6y + 1




